Efficiency vs Dxy(PV)
SO.OS

%045
3
©0.04
>
2.035
)
£0.03
g
®.025
0.02
0.015]

05 =20-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_mkFit_TTbase

—e— DQM_mkFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
—— DQM_mkFit_TT_baseline_6iter

I Efficienc] —— DQM_mkFit6_TT retrainOldFiles125_v2_prelimWP_epoch4

0.3]

0.15
0.]]
0.05

Ratio

2040608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
0.8,

o
3

efficiency vs dz(PV)
o o
oo

o
w

[=)
IS
T T T [ T [T T [T T

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

r>~lA_
a [
E L
P !
2
>
Q
c
@
s I
© F o N N N N
0.6f- 4 --e- deeeee AREEELE foeees
7 SN SRS SO SO SO O
7 SO | AR OSRIRS, O B
° OE i i*éﬁ i i
2 H T
= : :
ook - ----- i
0. .

-1 -0.5



	Contents
	Page 1


